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No. | mETH w7 R B B2 mems B AR =B (s k- 4IBD T 1918) i
4@ F16[H 4@ F16[H 4@ Z16M
pass | pare | pase | HesR | Baes | Bage
50cm 0.05 0.07 0.07 0.09 N
430|REENT |RER- RELL4— |BLAMEELRE 7A16R B A O ERBAEL =8, ZEDHRE
im 0.05 0.08 0.07 0.08
_ X . . 50cm 0.06 0.07 0.09 0.07 0.06 0.06
3| EEERT (MERRRESSD WRE—CELY5D 7A16H
im 0.06 0.07 0.08 0.08 0.06 0.06
_ X ) . 50cm 0.06 0.06 0.07 0.06
42| SEEWRT (MRERRESSD INEREZELHST 7816H [EEE] &L
im 0.07 0.06 0.06 0.06
_ X . . 50cm 0.05 0.05 0.05 0.05 .
433\ EEWRT (MRERRESSD WREE__EL950 7A16H i A O ERBAEL=0 . ZEDHBIE
im 0.05 0.05 0.04 0.05
- T i — — L4 ey 50cm 0.06 0.05 B A O EKEIASEL = . RSO A BT
_ X . . 50cm 0.08 0.06 0.07 0.07 0.07 0.07
435\ EEWT (MRERRESSD FEECELYSD 78178
im 0.07 0.07 0.06 0.05 0.07 0.07
_ X ) . 50cm 0.06 0.07 0.06 0.07
436|REENT [RBREEYSD INEHE—CELHST 7A16R [ERESE] #L
im 0.07 0.06 0.07 0.07
50cm 0.08 0.08 3 _ ==
37| RRENT [HRERESST | —KBSCELH5T TR16E —— I o) D eI, SROARE
_ X . . 50cm 0.06 0.07 0.08 0.08
438|REENT [RBRREYSD ARCELSST 7A16R [ERES ] ARNERELR
im 0.06 0.06 0.08 0.09
. . R 50cm 0.08 0.09 FE16EBRELT: HLDoFI5T (HEEE
439\ EEMT |[MBRFELHRE  |HLVD>F1455 7R18H e e =
1m 0.07 0.09 .ml:l‘t’/@ EEE)
i . o 50cm 0.07 0.07 0.10 0.08
440|REENT MBRTEIEE |BEFvLUUY5T (EARE) 7A16R [ERESE] 8L
im 0.06 0.06 0.09 0.08
i . X 50cm 0.08 0.08 0.08 0.07
441|REENT MERTEIEE |[EFvLUCHyRX (FARE) 7178 [ERESE] #L
im 0.07 0.08 0.07 0.06
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ERREFRPIEME(u Sv/h)
- EESE
No. | HETH 7 R E R B2 wmms B AR =B (thsk - 4BBD T 1918H) e
SE %16@E 4E %16E 4E %16@
BERE | HERE | HERE | HERE | HERE | HAERE
50cm 0.08 0.08 0.05 0.06 0.06 0.06
42| SEEWT |TD1h LERER 78178
m 0.07 0.08 0.06 0.06 0.06 0.06
50cm 0.08 0.07 0.08 0.08 0.07 0.07
443\ EFET | D EWELIRR 78178
m 0.07 0.07 0.08 0.09 0.06 0.07
i 50cm 0.07 0.08 0.06 0.07 0.07 0.07
A\ SEEWT |[TD1h KERERMAAN 78178
1m 0.06 0.06 0.07 0.07 0.07 0.07
50cm 0.09 0.08 i
445\ SEEWT [T D1t SEEWMTAROZRAR 78178 1 008 008 B =6 BES 10#&8IE
m .| .
TR e, 50 0.06 0.08 0.06 0.06 0.07 0.07
46| SEERT | 204 BEAS MBI —ERBRF/ Y | g g | T
T 1m 0.07 0.06 0.06 0.06 0.06 0.07
B 50cm 0.06 0.07 0.07 0.07
447\ EEWRT |TDMh REREEIEL S—DPHH O 78188
1m 0.07 0.08 0.07 0.07
50cm 0.08 0.08 0.09 0.10 0.07 0.08
48| SEEWT [T D1t £EBRIEE A —AIXIFE 78188
1m 0.08 0.07 0.08 0.09 0.07 0.08
50cm 0.07 0.06 3 _ ==
409\ R EEIT |ZDH FEobnHRIESE TATA — o) D eI, SROARE
m 0.06 0.06
50cm 0.06 0.06 0.06 0.06 0.05 0.05
450\ &EEWT [T Dt AEREXETSH AL 78168
m 0.06 0.05 0.06 0.06 0.05 0.05
50cm 0.07 0.07 0.05 0.05 0.07 0.07
451|SEEWT |[TD1h SHEERI BRI E5h 7R18H
1m 0.07 0.07 0.06 0.05 0.06 0.07
- 50cm 0.06 0.07 B A O &£ ZBIAELV=8 . KRAD AT
452| &EEINT | Z DM <htvt 7A18A 1 rary =
m 0.06 0.06
o 50cm 0.06 0.06 0.07 0.07
453| EEWT [T Dt BFEERIERERES 7A18H [EEE] &L
1m 0.07 0.06 0.07 0.06
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No. | mETH w7 R B B2 mems B AR =B (s k- 4IBD T 1918) i
45E F16[E 45E F16E 45E #E16MH
BERR | BERE | HEeE | PaeE | Pree | Haee
ssaleEEn 2ot SRy R AR JB17E e 007} oo i A D ERBIASEL = . KREDHAE
SBEN S ESEEEN - 007 000 [EfEZ] ®L
. - e 50cm 0.07 0.05 i A O LR =8 KEDAHBIE
455\ B EIT | T Dfth T73)— Xy XSEEW2 7A16H - pp 008 [EREZ] &L
_ 50cm 0.06 0.08 0.06 0.06
456|£BEMT |20 SHEERIE RS (25D 7H188 [EES] &L
im 0.06 0.06 0.06 0.07
R 50cm 0.06 0.06 0.06 0.05
457|£BEMTE 204 T7I— Ry XS FEIS 76188 [EES] &L
im 0.06 0.06 0.05 0.05
. _ . 50cm 0.07 0.08 748 1
- ) 50cm 0.06 0.07 HriRHh S
459| B ET | T Dt ZDA 7A18H - 008 008 [EEZ] &L
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